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\newcount\Result
\ksforloop{i=1+1}{10}{/
= \ksfori,
\Result = \numexpr\Result+\number\ksfori\relax
sum = \the\Result
\ifnum\number\ksfori=5 \ksforquit \fil\par

i=1,sum=1
i=2,sum =3
i=3,sum =6
i=4, sum = 10

i=295,sum =15
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\protected\def\tnlinehline{\tabularnewline\hline}
\def\test{ A & B & C \tnlinehline }
\makeatletter
\ksforloop{}{4}{%
\ksforloop{j=1+1}{3}{%
\protected@xdef\test{\test
(\ksfori,\ksforj) \ifnum\number\ksforj=3 \else &\fi
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\protected@xdef\test{\test \tnlinehlinel}’
}
\makeatother
\begin{tabular}{|clclc|?}
\hline
\test
\end{tabular}
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(4,1) | 4,2) | (4,3)
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\newcounter{ct}
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